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Senior Lecturer in Mathematics
01681-717200

AEN-2(T989)

BTICCE
1. oo faps v,
OA+ AB = OB
.. AB=0OB—0A
2. P(x,y,z)a%0! g o3 (95,
OP =(x=0)i +(y-0)j+(z-0)k

SOP=Xi+Yj+12k

3. A, Y1,2,), B(X,, Y,, 2,) TR0V RGA o (o3,

E = (Xz - Xl)f+ (yz - yl)j+ (Zz - 21)iz

ST MR,
A=AT+A J+AK
B=B,i+B, j+BKk
C=C,i+C,j+Ck
4. GF5! TR T o T o7,

=[A=AT+A7+A]
{Q:JBZ+BZ+BZ
5. aﬁﬁt«am (o33 [ T o7,
B

=T Q?QB
AP

6. V25! (ST ARR TN P (S % F19 714,
A+B 3
‘A+B| ‘ﬁ‘

7. 7 (SBCad U6 2%, A B = AB cosd

8. 7E31 (TR A 7 A, AB — 0

AB = AB—H\B+&B

\

11. ﬁﬁ@awmﬁfmqﬁmwvf,

12. A 99 %7 B @4 o8 wtecwel, BC0SH =

13. B @3 %1 A 93 =% wfeewal, ACOSO =

>! g
m‘Wl:D‘UJl

14. A/G7 3999 B @7 Sofied/aess, B coso.a

15. B 93 JAK4 A, 93 T/, Acoséb

18 iAxiA:]szlszZ:O
ix =k, jxk=0kxi=]
ixk=—], jxi ==k kxj=—i
19. 9fb CoFEa T welFe el a9 I,
]k
AxB=A A A
B, B, B,
=i(AB,~AB,)-(AB,~AB,)+k(AB,~AB,)
20. MZ51 (ST 779 GFF (9T [N a1 9, = _‘2X2‘
X

1. T el 20S b (SFER Nl (@it el F917 97,
‘Ax I§‘ = ABsin @
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_ |AxB|
=sinf =
"B
s @=sin™t ‘AXBB‘)

22. FB1 (937 AT RS *1S,
A(BxC)=(AxB)C=B.(CxA)=0

A A A
wewl, (B, B, B, |=0
c, C, G,

23. ¢f TRl A g e sfoe w3 @3z 93l 957 b
R A @A e el T 97,

r=a+b
24. 736 e seeEin (oga waeqa, T =ad + A(b — &)
25. FREFR (SFF AN S FICSA A2 fef
X=X _X-Yy, X-1,
X2 y2 ZZ
26. WWCWW:‘AXP;‘ @, As B 3
q=
27. W@mc‘a@wz%‘iix é‘ @, As B w3

3 |
28. Wﬂ@wz%‘,&x é‘ @A, AS B g |
29. Wmmwz%‘ABxAé‘ @A, ABS AC

LEEREY
30. e TeEd sEe= A (B x C)
@, A;B,C IR

qGR-(3.1-3.7) (RN

1. FITSAT @ (A FICHES T T3 X = I C0SH @I
y=rsind

2. JCSAT B % 419 @3 X = c0sH €2
y=rsing

3. (TR gEE o v @

r=qx°+y?

@ 9 =tan(Y) when, 0<<2z
X

i (xy) R o, t9=tan‘l(¥)

y

i.  (—xy) Re@ e, 0 =7 —tan ™

—X
s O0=r—tantY
X
. (—x,—y) &7 ow, 0:7z+tan1_—i
O0=r+tanty
X
iv.  (x,—y) = o, 0 = 27z—tan1_—xy
S O=27tantY
X
Or; @ =—tan |~
X
- 0=—tan i
X
A () 8 (%, Y,) mEE wafe
X1+X2 y1+y2
( > T )

5. AGLY.) € B(X,, y,) e g
AB =/(X, — %,)% + (¥, - ¥,)?

B. . P(x,y,) TR Qx,, v,)B FIPQ &
R(x,y) R PR:RQ=m, : m,T7"e Teos

T, R(x, y)z( m,y, +m2ylj
m, +m,

7. €, P(x,,y,) 9RQ(X,, y,)10! M PQ @

R(x,y) 7 PR:QR=m, : m, Site fies

I, R(X, y)E(leZ —MyX; m1y2_m2Y1j
m, —m, m, —m,

B. A, Yi) ,B(X, Y2) , C(xg, y,) 7 fesifon
X+ X, + X y1+y2+y3j

m; X, +m,X;
m, +m,

3 3

0. Py X - WCHA TAF WIS (e, Y GF GARS ¥
el

10. SR Y - 0w TR S[YS =0T, X 6 GRS X
el

11, AGL, Y1)+ B(Xp, V,) € C(x, Ys,) TS@d @il
aifé fagrem Twawe,

oot
AABC:EX2 Y,

X3 Y3 1

ST IAE G E(
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1
ZE[Xl(yz - ys) - yl(XZ_X3) +1(X2y3 - Xsyz)]

1
= E[lez =X Y3 =X5¥; +X5Y; + X, y3_X3y2]
OR,
1
AABC = E[(X1Y2 + X, y3+X3y1) - (Xzyl +X3Y, + X3

1

2

X
Yi

X,
Y,

X3
Y3

X
Yi

12 A%, 1), B(X;, ¥,),C (x5, ys) 7 oo e
T oo TFame & (4|
92qt, AB+BC = AC @I
13. Area of a Quadrilateral of the four points
A, Y1) B(X,, ¥2),C(Xs, V3), D(X,, Ya) -
A X Xy X X
y2 y3 y4 yl

2y,

1
= E[(lez + XY 5t XaYs +X0Y1) = (XY + X5Y, +XYs + %Y, ]

OR, Area of a Quadrilateral=Sum of the
areas of two triangles

14. Area of a Polygon,
(X1 Y1), (X2, ¥2), (X, ¥3). (X4s ¥4)
_1 Xl X2
2y, Y,

Y1

[0y, 450yt

X wewg Fed y = 0

Y SR TSR X =0

X SCa SR Feas e, y = b

Y SRR SIRAR TR Aqdae, X = a

y SRS e qA0g (@7 BE GHA @R AR50,

Yy =MmX+C

20. RIS @ (I IR AP, Y = MX, @A
R BETM

21, R (0P (P @R AR o1 771G P GR TS T
TR AL o, (I TAF FCH GHA @A AN
XCosa+ySma=p

22. @ (I GFB! FEFLIR BIet e 19 5@, y = mX + ¢
or, Yy =mX; @S (4 oI, M

23. (X, Y,) € (X,,Y,) R Ia0= SR @R e,

$Li7¥e _ Y27 Hh =(@ifbaee T /gerEe T
X=X, X; =X
24. o315 = (x,, y,) Tca Sfoeeral @ i e,

Y — Yy = m(x —x,), @, M @<= o |

15.
16.
17.
18.
19.

m=

25. 780 &9 (x,, y,) 99 (x,, v, ) e o=@t @i

e e, 9L = XN
Yi—Y, X =X,
6. H& SHE @A TR e, XY —1

a b
T X o= (a,0) e @3 Y w3 (0, b) Rqes
(=M |
27. ax+by+c =0 TR X SCwHa et 2@, X7
STen] X[y @GR Y S NG 20, Y Ao #y |
28. y —m,x+c, 8 y=m,x+c, TR 525 Tt
GRS, =m, GRaX+hy+c =0 ¢
a,X+h,y +c, =0 == 3216 AR 26T *S:
3 _b
a8, b
29. y =M X+C, 8y =m,X +C, A 735 75 2eq
WSm, xm, = -19Rax+by+c =0 aR
a,X+ b,y ¢, = 0 73 19 a7 *rs:
a,a, +bb, =0
30. 736 7T =T a, X+ by + ¢, = 09
a,X+ b,y +e, = 0@ T @ e T *re:
a_b_gc
aZ b2 C2
3l. ax+by+c, =0 9 a,x+b,y+c, =0 @@=
AR ZART (I FACS 20T g2 G (X, Y) @3 T+
foref e 23 |
32. y=mX+C, € Y=m,X-+C,TRa TGS (IT O
m, —m,
1+mm,
33. a,x+by+c, =0 9R a,x+b,y+c, =0 @@
AT TSI FRETCAAR el
ax+by-+c +k(@x+b,y+c,) =0 Tk @G
S &P |
34. ax+by+c, =0eax+Dby+c, = 0T @R

A, tanfd =+

c,—¢C,
ax+by+c =0 @I TR @I AT,
bx—ay+k=0

ax+by+c=0 T3 AR @R AN,
ax+hby+k =0, @CT kFIF |
(%, ;) @& ax+by+c = 0@E Tox wrfew o7

ax, +by,+c

vaZ+b?

TGS g =

35.

36.

37.

g =
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38. a,x+by+c, =0,a,x+b,y+c, =0,
X+ b,y + ¢, =0 @91 foafs 7™ zewm =
a b g
a, b, ¢|=0
a3 b3 C3

39. ax+by+c, =0 YR a,x+b,y+c, =0 GRECEH
SBYS (IR T GLCCHA TN,
ax+by+c, . ax+by+c,

Jai+b?  \JaZ+b?

40. ala2+b1b2>0m,w¢ﬂ'ﬁmﬁww
TG (+) 8 (-).

41. aa, +bb, <0 T, FUICR 8 IR FAGISF
TG (-) ¢ (+).

wgTE-(4.1-4.2) (T9)

08T (AT TP (h, k) ¢ FPIE =0T T AN

(x—=h)?+(y —k)% = r? @aits7, &% @ IyPmd e
APCT G I AT TS (A
3.

(x=h)*+(y-k)* =r?

= X’ =2hx+h* +y* —2ky +k* =r?

= X2 +y*—2hx—2ky +h* +k*-r*=0
Xy +20x+2fy+c=0

Here, h=—g,k=—f,c=h*>+k*-r°
=h=-g,k=-f,r>=h*>+k’-c
~h=-gk=—f,r=+vh?+k*-c

SEEMINECRNIC O x>+ y2 +20X+2fy+¢=0 ==
PR GRS (—gy=f) R I7PNE

=92 +(-1)* —¢

4. X +Y2+29x+2fy +C =0 greq e

X micq Afs sresm oy = 2@ UER
(X=h)? +(y=K)? = r* qrem e = 21 —k?

Y
&

D
X+ *
Y
Y

5. X'+ Yy’ +20x+2fy +¢ =0 greq cwem y
e Afoe s =24/ f 2 —¢
aw (x=h)2+(y—K)? =12 qoes crra

= 2r—h?

4

C(h,k)

[+] X

geft X e == e
X2+ Y2 +20x+2fy +¢=0 gren cvem,

9° =¢ qx (x=h)*+(y—K)* =r* grex e,
@G Y gAE = Joeq JPd
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7. 39 ) wrwcs o v
Xo+y° + 2%+ 2fy +¢=0 gren v,

f?=c @ (x=h)*+(y-k)* =’ gees e,
@eaa X g = 3oed IeIe
Y

»X

Xo+y° +209x+2fy +¢=0 gren o,
g°=f?=C awe (x=h)’ +(y-K)’ =r’gren

CFCE, (AT K @R Y geIE = J0ed IPIG
¥

9. X +y’+2gx+2fy+¢ =0 grea cvra, vom X
SCHT T SGEO = f =0 IR
(x—h)24 (y—K)2 = r? qres e, k=0

10. X4 Y2 +2gx+2fy + ¢ = 0 greg.cvem, com
S ©Of SIS 2 g = 0 GR
(x=h)? +(y=K)* =r° qres cwea, h=0

11, (x,,y,) 9R (X, V) s e
TRETCRIRACE I 4 SLF® Jrae ieael

(X_Xl)(X_X2)+(y_yl)(y_yz) =0

M) P
‘ ‘_.“:C(st Y1j :D(Xz, YQ)
By o
12.

.,-F'__"-u.p E:—‘ir—‘f—\_}
# g N \\x
IIIII III... IIII -..III
[ | [ |
| | | |
\ \ ._,-' /
kY ™ r
N _\\;\ ¢f__ ___-—~/
Q (%2, y2)

S, =0 9RS, = 0 T3B! IS AR T @
V{ﬁh?l‘]‘,sl_sz =0

13. 9F51 38 ¢ 461 @R @A ECP IS
TR, FE+K (RN =04 S, +kL =0

14. 735130ea @A @ Joed AT 24N I8
+k(839€)=0.-.5, +kS, =0

15 X" +y° +209x+2fy + ¢ =0 e (x,.y,)
R e, K

XX, +YY, +9(X+x)+ f(y+y,)+c=0

%_Point of tangenc

16. X" +Y° =1 e (x,, y,) frare =
e XX, +YY, =1

17. (x,y) R zs X +y +2gx+2fy+¢ =0
3G s e, o[ X2 + Y2 + 20X, + 21y, +C

Ta

ngent
»C
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18. (x,,y,) Rz X+ Y’ =1 qua i e,

2 2 2
X+ YE T
19. 726! I IRET @I TBTOLI™M T *e

cC,=n+nr,9Rcc,=r—r,

20. T I8 Y SCE (= AT O 8 X = 0 1T
= gerE fefy s 2w

21. TN J8 X TS (77 FAT TS I8 y = O I (=A
= grE fefy s 2w

22. (I FETCa T (FIF 8 (@I 79 e
(131, 5T o e, S8 S [ ea i s
A |

23. 7w el @RI = 30 @ @@ @ @Rt
T A 099 IR I A |

Endpoln

24. Jres Ifzey o 20 7fs e il I |
25. P9 R @I S-G9 TGRT RGP @ OF
SRR 8 &9 |

26. (x,, y,)Fzws X +y°+2gx+2fy+c=0
WWW,\/Xf +y?2 +2gx +2fy, +¢

era-(5.1-5.2) (R 8 i)

1. n=n(n-)Y(n-2)(n-3).......5.43.2.1
n'=1.23.45......(n—4)(n-3)(n—-2)(n—D)n

2. nP. =n(n-D(N—2)(N=3)....c.oc.... h—-r+1)

n!
3. N, =

“ (n-r)!

TN 2T

ne =n!

0=1

n, =1

n, =n

N, =Nn(n-1J)

n, =n(n-1)(n-2)

n 15 f&fiea p MUs &g @ &si7,q A5

& Sites &FR, r 7L< & e e a7 e
Fifs ferf wel fon fon 20 eime e o e

TR =

n!
pl.ql.r!

eI fafas eversh & a n i< a9 e

T n WS [{fey & roes s o

faegmt A =n"
n!
6. N. = I, N2r
“ rn-r)
n. =1
0=1
n., =1
no_n_n_
“n
~n(n-1) n(n-1) n(n-1)
< a0 12 2
n. - nn-H(n-2) n(n-H(n-2) n(n-1)(n-2)
°3 3 1.2.3 6
7. Ng +Ne =n+1;
8. N =Nc
Ne, =Ng,
X+y=n
9 1
Y (n=1)!
1
- ncr :ﬁx npr
SNy =ng xrl
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Chapter-(6.1+6.2+6.3):

@IS
1.

onee
&% 4

K&

& arc
)
&

-
h‘”"}fv’!’t;\;-

sector

G
L ]

radius

el

o0
o
o3

E

e
W \)&0

y
SR JIAL=r
R JH =2r
eed AR = 27r
FEY (1 JTY (I Rt |
&R CRqFeT = 71 °
el HAfReees eey farprefifere syreTe foq asiw
e FIF T T | I~
(i). 7% s (Sexagesimal system)-Degree
(it). @ == (Centisimal system)-Grade
(iii). 38 == (Circular system)-Radian
8. ffat e @fEam «z g 7=
180° = 7°
L0 T
180
TR,
¢ =180°
~180°

No gakrown

2°
w
9. fofe),ERTN 8 (AT a7 W T~oFe
D _¢ G
180 = 200
10. J@bICA e, S = 1O ()

11. ISR CFaT = 3:(;0 ar? (fefa)

= E r2t9 (@'F@W)
12.

wioge

L&
w@r@mm:%xgﬁx S

13.

b
TG ST (P!, A — %\/48.2 —b? @M,

A= AN e (755 @2 h="(7=1 9124 A) |
15.

C
eteR cFaeE,

A= 1bcsin A= lcasin B= 1absin C
2 2 2

wefe, A:%xﬁmm@mxamw

(IR R SeIT®
16.

R fagrem craws,
A=.Js(s—a)(s-b)(s-c)
@R, a,b,c fagre I |

-. fagtem »fi 2s=a+b+c

- fagtem @ =7, 5 = a+2+c

17. (a+b+c)* =a’+b*+c® +2(ab+bc+ca)

18. sin(—@) = —sin 8; cosec(—¢) = —cosecHd
tan(—6) = —tan @; cot(—0) = —cotd

19. cos(-8) = cosd;sec(-0) =secHd
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20. sing = ,cosecld = ——
cosec sin
cosezi, secld=——
secd coséd
tand=—, :i
tan @
21 tang=MY  corg= 050
cosd sSin @

22. sin@+cos’0=1
sin?@=1-cos* @
cos’@=1-sin’ 0@

23. sec’@—tan’ 0 =1
sec’d=1+tan’ @
sec’d—1=tan’ @

24. cosec’d—cot’ 0 =1
cosec?6 =1+cot? 6
cosec?d—1=cot’ @

25. tE RIS (C5 ]
sin® W Sfoeyw
sin 0 = w/afogw
cosecH = Sifoger/s
26. 3qca ECI- (oo

cos0 o ufogy
cos0 = gf/afegm
secO = sfogs/<fy
27. =1 W 9o
tano B} oY
tan® = =m /e
cotd = ofy /=@
28. Preeetiar @ (Sfoge) =(T%) +( o)
29. NFS @R Taeiffes wreire e faws
@ B (N x90° + 0) W AT FTS
T @RA,N (@ G AR @R O A | ©F
O FTCIel RS @R TR @frarey | Seeices o

et &) el s STt FR0o *0I | 9949,@
(Plol R SACEDAI A Y (TR (R IR A
5% (AIes *0I VAR 4SS Q| O -93 AT
(+) X ANCT R @R G -9 AT (-) A IR
T4 T | @9 (T A @1 AfRe 2@ /41 n
a7 W TEIT A A (@ ARTS 20F AHAA,Nn

G I (ST 7L R (Bl ARG 203 1 | 7 W

0 TS AT |
30. All Students Take Chemistry
i.  All=All Positive
ii.  Students=Sin/Cosec
iii.  Take=tan/cot
iv.  Chemistry=cos/sec

sin (+) positive 1 (+)

cotec | Frwot

- ositive i

i S 3 1. =1<sinB<+1
©
= 0 ;0\

2. -1<cosO<+1
3.-1>secO>+1

o T S T e £

| I N a % 4.-1>cosecO>+1
© ‘ S =Yy
| E §‘ 2 <= 5. tan®, cot6
i - i At A2
| tan (+) positive |cos (+) positive
cot sec

31. n @7 T Reeie 7t T @it #ARTSH =R |
Sine @S +if7af$s 2 Cosing 2 |
Cosine S +ifaf$ 20z Sine 2 |
tangent Sreite 7S 2 Cotangent 2 |
Cotangent Sirs #ifi<foe 2@ tangent 2 |
Secant wrjoI® #f7af$e zca Cosecant 2 |
Cosecant S~ire +ifsafe® 2z Secant 2 |

32/ 3 T (WG FeYt 0 (@it #ARFeT I A |

33. fargrem it fAeE 73R 7w,

B
Ci ia
A 5 C
b? +c? —a?
COSA=——— —
2bc
c?+a?-b?
cosB=———
2ca
2 2 2
a‘+b°—-c
cosC=————"—
2ab
34.
S 0° |[30°|45°|60°| 90° | B
sin (0] L] £ 7 sind, cosd
e i tan@ -3
cosec |wmmfis | 2 | V2 | 3 1
[} cos ! L1551 0 | cosed
sec 7 5 | V2| 2 |wwwfic| seche
tan | 0 | 5| 1 | V3 |wrfio ;?;:;:':T
cot |wrafic| V3 | 1 | 5| © -
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Using left hand to remember _sin/cos/tan of 0. 30. 45, 60, 90

Left hand—palm up. Degrees represented by each finger are
shown on the diagram to the left.

Eg to find sinB, cos6 and tan6, bend © finger down,

sin® = ¥ no. of fingers to left
2

cosine cosB = ¥ no. of fingers to right
(closest) 2

2 tané = v no. of fingers on sine side
v no. of fingers on cosine side

Spe-(7.1+7.7) (Rrtfifes wpire
8 IS (IR fararefifes wreires

@IS
1. Y® @R et waeite fReem fams
AFE @B (N x 90° + §) T e TS
R0 @ATA,N @ @A 250 q32 OFRE | 903
O FT1el Qe @ R &rarey | S o
e &) oeiel s orERe F90e 70 | 949,
CPlel R SCEDAT F0AT 8 (TR (R IR A
% $es R AVAR ¥71SS =03 | G -3 el
(+) T AN 99 @32 6 -a3 @A (-) T RS
QTR | (@l (AT AT (et Ao 2@ & in
7 W7 RS 125 20 @1 Ao 63 0L,
G T (BT AL T (et ARTS 20 A | 7K 7T
6 AR <A |
2. All Students Take Chemistry
i.  All=All Positive
ii. §tudents Sin/Cosec
iii. <Take=tan/cot
iv..  Chemistry=cos/sec

sin (+) positive

catec R+ | Srisaet |

—_— positive :

& 2 1. -1<sinB<+1
§ 2. -1<cosO<+1
> 30\ 3.-1>secO>+1

3} 4.-12cosecH>+1

| -~ Nt q1%

e 5. tan®, cot®
i tan +) positive |cos (+) positive
i cot sec

3. n @@ N Reeg 7t T @it ARTST F |
Sine w7is +if7af$e 2@ Cosine 2@ |
Cosine Sirs +fsaf$® 2w Sine 2@ |
tangent SeiTS #f7af$e 2z Cotangent 2 |
Cotangent St #faf$e 2@ tangent 2 |
Secant Sr°ITs +f7af$e 2@ Cosecant 2 |
Cosecant Si7ire +Ifsf$® 2 Secant T |

aAnebau

4.
5.

6.
7.

n §F T (WG Tt A @1 #ARTST 263 1 1
sin(—@) = —sin @;cosec(—@) = —cosecH
tan(—@) = —tan @; cot(—6) = —cotd
cos(—8) = cosd;sec(—0) = secd

sin(90°-0)=cosh, cos(90°-0)=sinM, tan(90°-0)=cotd
1.5iN(90°+0)=cos0, cos(90°+0)=—-sind, tan(90°+6)=—cotH
.sin(180°—0)=sin®, cos(180°-0)=-cosh, tan(180°-H)=-tano

.sin

v,
=1

v,

in

180°+6)=—sin0, cos(180°+0)=—cosh, tan(180°+0)=tand
270°—8)=—c0s0, cos(270°-0)=-sin, tan(270°-6)=cotd
(270°+0)=—cos0, cos(270°+0)=sin6, tan(270°+8)=—cot

.5in(360°—08)=—sinM, cos(360°-0)=cosh, tan(360°—B)=—tanod
.5in(360°+0)=sin®, cos(360°+8)=cosH, tan(360°+0)=tand

8.

10.

11.

12.

13.

14.

15.

16.

17.

18.

Sin(A+ B) =sin AcosB + cosAsin B
Sin(A— B) =sin AcosB — cosAsin B
Cos(A+B) = cosAcosB —sin Asin B
Cos(A—B) =cosAcosB +sin Asin B
2sin AcosB =sin(A+ B) +sin(A—B)
2cosAsin B =sin(A+ B) —sin(A—B)
2cosAcosB =cos(A—B)+cos(A+ B)
2sin Asin B = cos(A— B) —cos(A+ B)

sinC+sinD:2$inCWLDCOSC_D
2 2
sinC—sinD:2cosC+DsinC_D
2 2
cosC+cosD:2cosC+DcosC;D
cosC—cosD=25inC+Dsin b-C
2 2
tan(A-+ B) = tan A+tan B
1-tan Atan B
tan(A—B) = tan A—tan B

1+tan Atan B

sin(A+ B)sin(A—B) =sin” A—sin’ B
=cos’ B—cos’ A
Cos(A+B)Cos(A—B)=cos* A—sin’B
=cos’ B—sin® A

COt(A+ B) = cotAcotB -1
cotB +cotA
COt(A— B) = cotAcotB +1
cotB —cotA

sin 2A = 2sin AcCosA
sin A= 2sin écosé
2 2

2tan A

SiN2A= ———
1+tan? A
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19.

20.

2tané
sin A= 2A
1+tan? —

2

cos2A =cos® A—sin® A
cos2A=1-2sin? A
2sin® A=1—-Cc0s2A
cos2A =cos®’ A—sin? A
cos2A=2cos®* A—-1
1+ cos2A=2cos’ A

> A

21. cosA=cos? é—sin =

2

cosAzl—Zsinzg

2sin? g =1-CcosA

22. cosA=cos® 2 —sin? A
2 2

23.

24,

25.

26.

27,

COSA = 2C082§—1

1+cosA:2coszg
tan 2A22ta—n;A
1-tan“ A
2tané
tan A= 2A
1—tan? —
2
1=tan’ A
COS2A = >
1+tan” A
1—tanZé
COSA = i
1+tan? —
2

sin3A=3sin A—4sin® A
4sin® A =3sin A—sin 3A
sin A:3siné—4sin3é
3 3
cos3A =4cos® A—3cosA
4c0s® A=3cosA+cos3A
J A A
CosA=4cos’ ——3c0s—
3 3

3tan A—tan® A

tan3A = 5
1-3tan A

3tan A tan? A
tan A= A 3
1-3tan®—
3
28.
CE)
9
B
29. i FRE AP
sin® G SE]
sin 0 = =/sfoge
cosecH = Sifoge/s
30. & ECIR (CC

coso o wfogs
C0s6 = Sf/sifege
sec6 = sfoge/ef
31. B TH ¥S
tano T oy
tan0 ==/
coto =efii/s/w
32. foreetrart vms (Sfogw)’=() ()’

33:sing = ,cosecd =

cosecé ~ sin@

cosezi, secd = 1
secd cosd

tanezi, cotld =
cotd tan @

34. tan @ = >0 0 , cotf= C_OSH
cos@ sin @

35. sin?@+cos° 0 =1
sin?@=1—cos’> @
cos’ 0@ =1-sin? @

36. sec’f—tan’ =1
sec’@ =1+tan? o
tan? @ =sec’ 9 -1

37. cosec’d —cot’ @ =1
cosec’d =1+cot? @
cot? @ = cosec?0 —1

SrepRttEra- 7. 7 (fagrem wafe):
2 a+b 2
B-C b-c A
2  b+c 2

tan
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C-A c—-a B

tan =——cot—
2 c+a 2
39. sin é = w
2\ bc
i B_ [6-0G-a)
ca
i C _ [c=a)s-b)
2 ab
40. cosh = s(s-a)
2 bc
cosB - s(s—D)
ca
cosC = [S=0)
ab
4]. tan é — w
2 | s(s—a)
an B_ [(s—c)(s-a)
2 s(s—b)
anC _ [=a)s=b)
2 s(s—c)
42. sine Rules: @ @ fage ABC @3 ¢¥ta,
a b C

sinA sinB  sinC
43. sine Rules: @ @I fags ABC @7 ¢#ta,

£ Alsacide A= £ A ls obtuse

a b c

sinAzsinstinCZ
3 _op L _og ©

sinA = 'sinB.  'sinC
s.a=2Rsin A,b=2RsinB,c=2RsinC
44, & v fage ABC @3 ¢,
a=DbcosC +ccosB
b=ccosA+acosC
c=acosB+bcosA
45. Cosine Rules: @ & fagst ABC @3 ¢,

2R

b’ +c’-a’ 5
2bc

COSA=

c’+a’ b’

cosB =
2ca
2 2.2
COSC — m
2ab

46.

47. 38517 0, s = .0 (@A)

48. JSFR CFATT = 3;)0 ar? (fefer)

= Erze? (wfez)
49,

b
T Rgres cRaT, Az%\/4a2 " p? @i,
A= AN S (A @9 b= 9124 AT |
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faetem craT,
1 . 1 . 1 .
A :Ebcsm A==casinB :EabsmC
wafe, A :%xﬁmm@wxamw

(RICSlR A SeiT®
53.

R fagrem craws,
A=./s(s—a)(s—b)(s—c)
@RI, a,b,c fagrsa I |

.-, fagrem s 2s=a+b+c

- fagtem i o, g - AP FC

2
7 °l 90° 7R
; 7 7 Ve sinB, coso

sin (0] >3 75 7‘ 7

= tan0 -93
cosec|wwreflic | 2 | V2 | 5 7 P

7 7

cos 1 L |5 i s cosecO
sec 7 Z | v2 | 2 |wrw=fic| secds
tan 0 7'3 ‘ 7 V3 | orreifie ;?;9“5@

7
cot wrefie | V3 1 75 o 1Y

Left hand—palm up. Degrees represented by each finger are
shown on the diagram to the left.

Eg to find sin®, cosb and tanB, bend 8 finger down,

sin® = ¥ no. of fingers to left
2

cosine cos8 = v no. of fingers to right
(closest) 2

2 tané = v no. of fingers on sine side
v no. of fingers on cosine side

lim X _
3. x—>0e 1:1
X
lim
4. Xﬁowzl
X
lim 1
5. Xx—>01+x)*=e
lim
x—>oo(1+1)xze
X
lim n_
6. X_)OM:n
X
lim Xn_an 1
7. X—>a ——=na";
X=a

8. x h—m> Ou(x).v(x) = x “—m> Ou(X) x X Ilﬂ) 0ov(x)

im- L u(x) X Ii—m>0u(x)

9. Xx=>0 - lim
v(x) X — 0v(X)
2 3
10 e =14 XXX o
21 3
> x x2 X3
e =l — .
n 21 3
2 3
11. ax:1+xlna+(xlna) +(xlna) ......
il 2 3

12. (@a+x)" =a" +nga" " x+n. a" X’ +.........

(a-x)"=a"+n.a" (-x)+ng a"*(=x)* +.........

n n

QW, nC =—=—=IN
S LA |
~n(n-1) n(n-1) n(n-1)
« a0 12 2
~n(n-1)(n-2) n(n-1)(n-2) n(n-1)(n-2)
“ 3 - 123 6
2 3 4
13. In(1+x):x—x—+x——x—+ ......... -
2 3 4
2 3 4
In(1—x):—x—X——X——X— ............
2 3 4
m

m n m+n a m-n myn mn
14. a"xa"=a"",—=a"",(@@")" =a
a
15. a—m :im’ao :1’(ab)m :ambm’(g)m :a_m
a b b
16. 2" =a" . x=m,a" =b" ..a=b
17. log, xy =log, x+log, y
X
Iogk(y):logkx—logky

18. log, x™ =mlog, x

19. log, b=
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20.
21.

22,
23.
24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

log, bxlog, a=1
log,1=0,log,a=1
"’ =p
log, x=log, exlog, x
log, a=1log, exlog, a
1
log, x In x

log x =log,, X
log, x=1Inx

f(x

=log, exInx

1
xlna=——xlIna

+h)— f(x)

dy _
= f hs
ix '(X) =

h

i(x“) =nx""' Ex: i(x) =1
dx

d
—(—) = Ex:—
dx(x) x™t dx

= (x )‘T
d Ny mond
&(cx)_cnx

d
&(c)zo

d d .
Gt (9F=c AT00} B

d X X
—(€"=e

dx( )

d mx mx
—(€@™)=me
dx( )

i(ax):ax.ln a;a>0
dx

d 1

—(Inx) ==

dx( ) X

9 (10g, 9 =2 (log, ¢)
dx X

i(sin X) = COSX

dx

d , .

— (Sin mx)= mcosmx
dx

d .

— (cosx)=—sin x

dx

d .
— (cosmx) = —msin mx
dx

d (tan x) = sec? x
dx

d (cotx) = —cosec’x
dx

)=
X X

X: d (cx™) =enx™*
dx

a0, 9 (secx) =secxtan x
dx

45. di (cosec x) = —cosec xcotx
X

dy 1
46, o
dy
g7, H_ L
dy dy
dx
48.i(sin‘1x)= L
dx 1-x°
49_1(00371)():_ L
dx 1-x?
d 1
50— (tan ' x) =
dX(an X) T
d 1
51. —(cot™x) =—
dX(co X) e
d 1
52. —(sec™ X) = ————
dx Xvx? -1
q 1
53. —(cosec™X) = ———
dx — Xy x? =1
54. %(uv) =v%(u)iU%(V)
du dv
= _u—
55. —( )_X—dx
dx v v?
d d
56. L@y =u"
dX(u) u dX(vlnu)

57. 1— X* = J1— x? sl 2@ X = sin @/ cosé
4909 (T |

a? —x* = a’ - x° = A
X=asin@/acosf & T3 |

58. 1+ Xx? = 1+ X° wieim @i X = tan 6/ cotd
4909 (T |

a? +x% = +a’ + x? srerE e
X=atan@/acotl ws 3|

59. X2 -1= —1 S Qe
X _secelcosece A0S A |

X% —a% = /x? — a° wreE aeE
X =asecd/acosech «&ws A |
60. 1+ X 1 X

1-Xx 1+x
QW

= 2 9eid A X = c0SH/ tan @ «=ce
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\/1+x \/1—x
= IR AFEA X = COSH 4TS A |
1-x 1+Xx

61. 2t X _ 8~ X qiemm e x = acosd/atan @
a—Xx a+ X
@0 T |

a+ X a—X
\/ = IFIE AFE X = aC0SH «=0e
a—X a+ X

A |
62. (x,,y,) Rwe =nries e,

d
Y=Y, Zd—y(X—Xl)
X
63. (x,,y,) Re wféeram i,

1
Y-y :_d_y(x_xl)

dx
64, =il x-S AR y-oIewa Toig a1 J0
Y _o
dax
65. =l y-urwa SIeRIe/ X-SICHe Toig a1 X0,
1 =0=> ay =00
dy dx
dx

2

d
66. (i). @y 19 FRIA orawset (%) g
X
B A ICH

(ii). 7D @ AR N &y G TBAFAT N
(%zo)wim G (TF X T T (T RA |
X

(iii). @% x 97 WF TEIR TSAFAC IACS A |

d2y d2y
(iv). vy Ot w1+ sheat T B Ozt
A2 S et T

(V). SR @R X 93 T (IR TR I (D @
S W et FA
67. 2tan! x = tan( 2x

1-x°

)

1—x2)
1+ x?

68. tan " x+tanty=tan™ (ﬂ)

2X

e =cos™(

=sin(

XYy
1+ xy

69. tan'x+tanty+tantz=tan

tan" x—tan'y =tan(

1—yz —2zx—Xxy

X+ Y+ Z—Xyz

70. sin" x+sin 'y =sin {x/1- y> + yJ1-x°}
sin™ x—sin y = sin {xy/1- y? — yv1-x*}
71. cos' x+cos'y = cos’l{xy —J@=x)({1-y? }

cos'x—cos'y= cos‘l{xy +y@A-x)(A-y? }
72. sin?(sin ' x) = (sinsin " x)? = x?
73. sinsin™' x =coscos™" x =tantan " x = x
74. Sin(A+ B) =sin AcosB + cosAsin B
Sin(A—B) =sin AcosB — cosAsin B
75. Cos(A+ B) = cosAcosB —sin Asin B
Cos(A—B) =cosAcosB +sin Asin B
76. 2sin AcosB =sin(A+ B) +sin(A—B)
2cosAsin B =sin(A+ B) —sin(A—B)
77. 2cosAcosB = cos(A—B) + cos(A+ B)
2sin Asin B =cos(A—B) - cos(A+ B)

78. sinC+sinD=ZsinC;DcosC;D
sinC—sinD:ZcosC+DsinC_D
2 2
79. cosC +cosD=2cosC+DcosC;D
cosC—cosD:2sinC;Dsin D;C
30. tan( A+ B) = tan A+tan B
1-tan Atan B
tan(A—B) = tan A—tan B
1+tan Atan B
81. cot(A+ B):ML
cotB +cotA
COt(A— B) = cotAcotB+1
cotB —cotA

82. sin2A =2sin AcosA

sin A= 2sin écosé
2 2

sin 2A:—2tanf‘
1+tan® A

2tané
sin A= 2A
1+tan? =

2

83. cos2A=cos® A—sin? A
cos2A=1-2sin? A=2cos* A—1
1-cos2A=2sin? A
1+ cos2A =2cos’* A

84. cosA=cos’ A —sin? A

2 2

cosA=1-2sin? A_ 2c052§—1
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85.

86.

87.

88.

89.

90

91.
92.

93

94,

95.

96.

1-cosA=2sin-—
2

2A

1+cosA= Zcoszg

tan 2A =

2tan A
1—tan? A
A
2tan —

tan A=

COSA =

Cos2A=

1—tanZé

1-tan® A
1+tan® A

1—tanZé
2

1+tanzé
2

sin3A=3sin A—4sin* A

4sin® A=3sin A—sin3A

sin A =3sin é —4sin® —
3 3

, A

cos3A =4cos® A—3cosA

4cos® A=3cosA+cos3A

COSA = 4cos3§—

tan A =

. sin(—@) = —sin 8; cosec(—H) = —cosecHd
tan(—@) =—tan @;cot(—0) = —cotéd

tan3A =

3tan A—tan

A

3cos—
3

*A

1-3tan? A

3tan é— tan® —
3

3A
3

1-3tan? —
3

cosec?0 =1+cot’ 9

A

cos(=0) = cos@;sec(—O) =secd
sin @ = ,cosecé’:_i
cosecd sin @
cosfd=——, secé?:i
cosd
tané’zi, cotéd = !
cot@ tan 0
. tan @ = sin 0 , cotéd= CPSQ
cos@ sin @
sin?@+cos*0=1
sin?@=1—cos? @
cos’@=1-sin?@
sec’@d—tan* =1
sec’@=1+tan’ @
tan®? @ =sec’ 9 -1
cosec’fd—cot’ @ =1

97.

98.

99.

cot®? @ = cosec?d —1

AT T WS
sing T wfosw
sin 6 ==m/sfoge
FE GO W

cosO =fi  wfeogw
Cos 0 = ofv/afogs

wa T ge
tan6 =™ oy
tan0 ==/ of¥

100. WY @R frefifes wstts Fdta fRams

7S @A (N x 90° + @) SR e FTe
@ @ATA,N @ @ FL @R QTR | 90
O FECIY RCAS R RN STAEy | Sived b
I S Sosiel FEs SRpTae 0 20 | @, @
(ot e SIS Fa0a1 ©Y (T2 (FICR [0F 21Gr
5% (Aies R TV 4SS 2 | 0 -93 =0t (+)
0 AR 99 @R 0 -47 W9 (-) A (R T
A | @ (AT R @19 Ao 2@ 591 n @3
T RS Hedyt 20a (et +fRe 20q TR, n 97
W (OGR! G (i #AfFae 703 A | 7 AW O
TS AT |

101. All Students Take Chemistry

v. All=All Positive
vi.  Students=Sin/Cosec

vii.  Take=tan/cot
viii.  Chemistry=cos/sec
. o
okae e ()

1. =1<sinB<+1
2. -1<cosO<+1
3.-1>secO>+1

negative

i

positive
S
g %\N

i 3% N r g g) 4.-1>cosecH>+1
(E % 5 == 5. tan®, cot®

| . ) ° = et A%

| tan (+) positive [cos (+) positive

i cot sec

102.

i n @R R Tt 7 @ ARTeT 709 |

Sine WS +if7af$e 7w Cosine T |

Cosine wits +f7af$ 2 Sine 2@ |

tangent S°Is «f7af$e 2@ Cotangent 2@ |

Cotangent Sirs +ifsaf$ 2 tangent 2 |

Secant w7 #ifvaf$® 2@ Cosecant 2 |

Cosecant S7its #f7af$ 2@ Secant 2@ |

. NG @G MYt A @ #ARRET T3
EIl

Page 15



@IS du_ dv

\'
d u dx  dx
Differential-(srsfw=): ) 2
1 i(xn) ol 24, 1—x* = 11— x* s et X = sin @/ cosé
dx 4900 ](A |
2. OIE(CX")=CHX”‘l a’ - x? = vJa? - X’ wiem G
dX 1 X=asin@/acosf e 7J |
3. —(x)=-7 2 2
dx 2 x 25. 14+ X° = 1+ X° wieica @ X = tan @/ cot
d, . « {00 7(A |
4. —(e")=e
Oc'jx a? +x* = vJa? + x* s A
S. d—(e”‘x) =me™ X =atan @/ acotl e zF |
X
d . . 26. X? —1=> /x? — Lo Qe
6. —(@)=a*lha
dx X =secd/cosecH = ts A |
7. i(mx):l X2 <a® = Vx? —a’® e AR
%X X X=asecHd/acosecl «3ts I |
8. &(S'” X) = COSX 27, 1EX L 1o X o aret X = cos6/ tan O «we
d I-x 1+X
9. —(sin mx)=mcosmx A |
dx
d : X NI et x = cosg s @
10. &(cosx)z—sm X 1% 1+ x : = -

+X —X
0g atx _ a

a—Xx a+ X
4O ] |

12. di(tanx):seczx a+ x [a—x
X /_:> I AR X = aC0SH 4=
13 d a—x a+x
T |

i AFCE X = acosd/atan &

11. i(cosmx) = —msin mx
dx

. — (cotx) = —cosec’x
dx

14. i(sec X) =secxtan x
dx

Integral- (@er&<ae):

d
15. — (cosec'x) =—cosec xcotx
dx n+1

d .. 1 Ny = &
16. —=(sin " x) = 1. jx dx n+1+c
> ks 0+1 1
17 i((:()371X):— 1 jdX:J.XOdX:X :X—:X-|-C
. dx 1—X2 0+1 1
18. i(tan-l X) = ! 2. Iadx:ax+c
dx 14 x? )
= (ot : —dx=2x 0
19. — (cot™x)=— 3. X X+C [x>0]
OIX(co X) T j\/;
d = 1 4 Iexdx=ex+c
20. —(SeC™ X) = ——— .
dx X,X2—1 : .
. _[e =—e™+c
21 i(cosec’lx)— L m
. =—— X
(jjx d X Xd -1 6. J.a.de:a—+C
22. — (uv) =v—(u) +u—(v) Ina
dx dx dx
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7. J.de=ln|x|+c [x > 0]
X
8. _[cosxdx:sinx+c
9. _[cosmxdx:isinmx.+c
m
10. Isin XdX = —Cc0SX+¢C

) 1
11. |sin mxdx=—-—cosmx+c
m

12. jsec2 xdx = tan x+¢
13. jcoseczxdx =—cotx+¢
14. jsec X.tan xdx =secx+c¢
15. J'cosecx.cotxdx = —COSEeCcX +c¢C
dx .1 X
16. j—:sm —+C
a?—x? a

j dx =sin?x+c
V1-x?
dx
e

dx 1 X
18. =—tan*Z+c
Ia2+x2 a a

=—costX+cC

dx ,1
j > =tan" x+c
1+ X

19.I dx =—cottx+c
1+ x?

20 =sectx+c

J‘ dx

U xx? -1
J' dx

X2 -1

: Iuvdx b u_[vdx— J'{% (u)_[vdx}dx.

dx 1 |a+x
' Iaz—x2 :Eln

a—x
dx 1 |x—a
24 sz_az =£|n

X+a
=In(x+vx*+a’)+c
=In(x+x*-a%)+c

21 =—cosect x+c¢

2

N

2

w

+C

+c[x>a]

25 [~
Y Ux+a?
J' dx
I xi—a?

[ 2 2 2
27. .[\/az—xzdx=HT_x+a?sinlz+c

a

26

28

29

30
3

-

3

N

33

3

N

35

36.

37

38

39.

4

o

41

42

2

[v2 2
. I\/xz +a2dx:%+%ln(x+\/x2 +a’)+c

[v2 2 2
: j\/xz —azdx=%—%ln(x+\/x2 —a’)+c

. jtan xdx =—In|cosx| = Injsecx|+c

. Icotxdx = In[sin x|+ ¢

) J'sec xdx =1In

X
tan(%+§)‘ = In|secx +tan x|+ ¢

X
. jcosecxdx = In|tan 5= In|cosecx + cotx| +cC

: jeX{f(x)+ f/(x)}dx = eXf (X) +¢C

_ je"‘x sinbxdx =

asinbx—bcosbx) +c¢
a?+b? ( )
=e—sin(bx—tan‘1g)+c

Ja®+b?

ax

Ieaxcosbxdx= T b (acosbx+bsinbx)+c
a‘+
:f—bzcos(bx—tanlghc
a’+
. jaxsin bxdx:(lna‘;l—zbz(ln asinbx—hcoshx) +c
_I_
:Lsin(bx—tan’llhc
(In a)? +b? Ina
. | e coshbxdx=————(Inacosbx+bsinbx) +c
" oosbidk = ;‘2 - (nacosbict bsinbx)
na)’+
:ﬁcos(bx—tan*%ﬂc
na)" +
jf 09X £y
fF(x)

.jf'(x)dxzz F(X)+c

N

. i f(x)dx = —i f (x)dx

b
Ly = f(x) T e el <o o = [y
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43. y, = f,(x) €y, = f,(x) TFELE CFage o 51. 7w (ol e

b dx dx
TR = | (y, — Y, )dx ,
'! b '[(ax2+b)1/px2+q I(px+q)\/ax2+bx+c
d
44, RUles-ﬂﬁWﬁéfmI X G I 9T A A, OIRCE N
Constant £sin x z
SIPICRR T OC 0 SR AN @l I 5 e TR TR A7 I @7 Foetaa AN
o e w0 DTt I et FH0e T | SR U2 40 AR TR o7 ZFGrere S|
i j dx TN FACS T(A |
“J1-sinx 52. Rules- 3 @ 2f5al
dx
45, Rules- 3@ i 2fSae X e orarel
IConstanticosx '[(axz +b) /pxz 1q dx A, o
LT S SR TS T | X% + 0 = 2° sz ernel <veie A ZFBLeC o
. . dx ST FACO RS |
Examples: (i). i).
P ()I SX Il—cosx 53. Rules-1m &9 2Bt
46. Rules- ﬂﬁ@ﬂﬂ?ﬁ?@“ﬁj SRICEE TH | dx | a | dx
a+be acos’x+bsin®x Y a+bsin?x J a+bcos? x
O(F 79 8 JAE e X 7l oo TR A9 ZF BT G R @F AR ACF, OIXCA G198 TAF
@ &eel Fee 7@ | Examples: cos? x @Al ©l% JCH FPA FAR A7 tan X = 2
. dx .. dx .. dx (73 BT g & T TS |
(|).J' _ (||).J' - (|||).J' T dx
l+e l+e e +¢€ 54. Rules- 3@ @@= fSamE J'—
47. Rules- I #1(33 91® 8 (T I© 7N Tq O { sin™ xcos" x
TAF 998 I BIT IP VO] I 35+ Y TRFEEJ GIR M+N= P (&C ARG I O &9
A TR AR BT @ AN FICS (A | 8 RAE COs? X Al O FCF FFP9 FA 27
Tmrats (i). J- xdx tanx =z miﬁwﬂma@mﬂﬁt@m|
55.  Rules- ¥ e 2fBarm [ X
ax+b sin™ x +cos™ x
48. Rules- 3ft 11 2B ch+ddx or, TR T 93 M (ST e T O(F &7 8 TS
Jaxsb cos? X @RI Ol I AFAFA FA9 77 tan X = z
fgd X SRR ACH, OIXCA &9 8 JACE a1 09 FBLeItTa a T T A |
Jox+d 56. Rules- 3 @ 2fGerte
AR @9 TR FICF I TS IACO I | OIFAR I dx dx dx
i EIE! <Pes 2FPGEreIeT 3 &, P 2 | J.asinx+bcosx+c’J.a+bcosx’ja+bsinx
49. Rules- I = fBae J'— @3 TP GF SAFICR AP, O
ax- +bx+c

dx 2tan > 1-tan2 2
I# R J'\/ax2+bx+c.dx aq sinx=—2X,cosx=—)2(@i’«_e
ax” +bx+c 1+tan2E 1+tan2E
AT 93 SAPICE AP, OIRCE X2 @7 AR S IR
A w3 afm e T 91 SreRwe! e I BT o Sl e S A | Ot

ZFBrerItTa @ STl A0S TEA | tangzz 40~ N0 T 7

50. Rules- 3 @4 gfGae
EFBra It 9@ eTlel FACS TCA |

[P— [ dx 57. Rules- 3 i el
(ax+b)y/ px+q ° (ax® +bx+c)y/ px+q Ipsinx+qcosx+r
G ! €6 AR A, Wiz PX+( = 2° asin X +bcosx+c
403 NP0 AR AR ZFGLeItd I ATel FA0e
A |

dx JFE AT, ORE
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]R=| (2F) + mj(‘s%r) +N GF ML efegioT
X

A BEHCR @ A5 FACS RCA |
P
a-+bx*

r

Cc +dxs
WERQSSUIAMe N, OW@ X = z" 4@
AP FACS ZQ | AITOCS SALRF Sl TR
A ZFOCEMTR @ Tl A0S A |
59. ” LIATE «

dx SR

58. Rules- 3@ Wiﬁmj‘

QaIe, L=arohfaws wiess
(loge* =Inx,log x,loga*......)

|=fi=Srs farafifes wig
(sin~ x,cosec'x,cos ™ x,sec™ X, tan " x,cot™ X)
A=3reeifeey wie (x,1,2,3.....)
T= fazteffos wie
(sin X, cosecx, cosXx, Sec X, tan x, cotx)
E=par wieew (€4,a",10%.)
d
R @e- |uvdx = u| vdx— | (— (u)fvdx)dx.
| Jyex—[ (- (u)fvax

“LIATE” *%{63 g & I @ieet A/ GiR 46
U 3R SR V 4T JFBLeITad S &ATH $H09 (A |
I @I @S At LIATE *t3@ s 1@ 91 5
CICHE (@ FIHCE TZCS @GR F1 T 91 O u
430 A |

60. SIS St o S99 @

_ 1

1 _ 1 N 1
(x=D(x=m) ~ (x=D(I-m) ~(x—m)m-1)
[Cover up rules]

ax® +bx+c
O N —myx—n) e e
ax? +bx+c A B . C

(x=D(x=m)(x—n) - x—I +x—m X—n

ax? +bx+c

(x=D?(x-m) e < ot

ax’> +bx+c A B C

(x=1)2(x-m)  x-I +(x—|)2 X —m

(iii). 7

ax’ +bx+c
W) (X* +Ix+m)(x+n) SRR

ax? +bx+c Ax+B . C

2 +Ix+m)(x+n) X>+Ix+m> x+n

2
ax“+bx+c
V). I Sfes =3 ©ed
V) (X* +Ix+m)(x+n)
ax’+bx+c [ Ax+B Cx+D N E
O +xFm)2(x+n)  (C+Ix+m) (F+Ix+m)®>  x+n
T 48

[wﬁ%ﬁ4@ﬁzmmw ]

@it

1. |X|<a.'.—a<x<a

2. |X|Sa.'.—aSX£a

3. {>a ;3| x>0%, x>«
g X<0 ¢, — x>«

4, @S ITONF IS HF Al & FAE SPTIo
e fiodre 7@ |

5. (IS SETTOIE e (T1) FACe ST M
e =3 |

X =xx>0
6. 0;x=0
-X;Xx<0
7. [x|=x
8. |x|2:x2
g|mpr,E=H
bl o
10. [a+b|<[a|+|b|
b/l

11.3m a<b @3 (x—a)(x—b) < 0=F =,
Xx>a,0r,x<b =2t a<x<b

12.3m a<b @32 (x—a)(x—bh) >0 =¥ °F,
x<aor,x>b

SeAtET-3(She AL):
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i

z=—1+1 Y z)= 1+§
< > >
X
Zg=-1-1 Zg= 1-14
vY
1. Z=X+Iiy

-3, 2] = XP + Y2 @€, 0 = tan 1 (Y)
X

Z=X+iy 9T NI Hztan‘l(z)
X

Il Z=—-X+Iiy aawf@mﬁezﬁ—tan‘li
—X
cO=r—tanY
X
. z:—x—iyaawnémﬁez—ﬂﬂan’l_—y
—-X
O=—rg+tantd
X
IV. z:x—iyaawémﬂ“?ez—tan‘l_—y
X
~O=—tantY
X
2. z=x#£ly @RI, Z=XTFiy
3. i=n—1. i2==
4, Im a+ib=0=%®, a=0,b=0
5. I a+ib=c+id We@®,a=c e b=d
6 _-1+4=8 -1+ s
2 2
, —1-4J-3 -1-3i
a = =
2 2
7. 1+w+@* =0
Ato=-0’ 1+ 0 =—-0,0+0* =-1
8. w' =1
9. (a+b)®=a’+3a’b+3ab’ +b?
(a+b)® =a’+b®+3ab(a+b)
10. (a—b)® =a*® —-3a’b +3ab’® —-b°

(a—b)® =a*®-b®—3ab(a—b)
11. a® +b® = (a+b)(a®* —ab+b?)
a’®+b®=(a+b)®—-3ab(a+b)

12. a® —b* = (a—b)(a® +ab+b?)
a®—b®=(a—-b)®+3ab(a—b)
13. a®* -b®* = (a+h)(a—b)
14. a" xa" =a™" a—n=am’“,(am)n =a™
a
15. a™ :i =1(ab)" =a"b", ( Zym
a" b
16. a*=a" .. x=m, a" =b" ..a—b
17. log, xy =log, x+log, y
X
Iogkcg)=logkx_wogky
18. log, x" =mlog, x
19.log, b= !
log, a
20. log, bxlog, a=1
log,b=1log,exlog,b=Ilog,exInb

21. Iogkl—O, log,a=1

22.

N

|| || |ab| =a|b, (ab)* = a’b

23.Wmmw$(h,k)\smﬁ r =1 854
e, (Xx—h)2 +(y-k)? =r?
24, fagre Wz ax® +bx+c =0 @3 3= ok =
—b++/b* —4ac

2a

M, X=

AT ATl @ 7ol STReD):

@i
1. Polynomial (3g#@):

Polynomial — Many terms

Here, Poly — Many, Nomial —term
Monomial —one term

Binomial —two terms

Trinomial —three terms
Highernumberof terms..........
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IS 9T N G TG =jef A< S @
(AR I TS Jreeifery ARTE Igaml I |
g TS 9 A 9IS oW AFCS A |

GF DA I2RF AILIF FE,

P(X) = agX" +a, X"t +a X" +........ +ax
_ 5 4 3 2 1 0

S p(X) =6X> +5x" +4Xx° +3X° +2X" +1.X

=6Xx° +5x* +4x3 +3x% + 2x +1

AT, 6X° —> Y- @2

5X* +4x3 +3%x% +2X+1— ¢Na-sm

AT HECR IR AIGE AR, p(X) =0

A" +a X"t a, X" +a x° =

3. fagre FATCeR TG T

A FE,

ax’> +bx+c=0
= 4a’x* + 4abx+4ac =0
= (2ax)* +2.axb+b* —b*+4ac=0
= (2ax+b)* —b* +4ac=0
= (2ax+b)? =b® —4ac
= 2ax+b =+b? —4ac
= 2ax=-b++b*-4ac
‘= —b++b? —4ac

2a
e fagre A= ax® +bx +¢ =0 95 7 fe

—b++/b?—4ac

2a
4. ax®+bx+c =0 7w b? —4ac &
TrotEs/ojRws < |
5. fawre Aqiwet ax® +bx + ¢ = 0 @7 TFm @Ffes
i. 3 b’ —4ac>0 =¥ o & 3 A8 @
SRS R(S |
ii. 3™ b® ~4ac=0 27 o= W 2 FWE, IWI
8 ™ RS | Example:
~5+0 =540 ~5-0 -5 -5
3 38 3 3'3
iii. 3@ b’ —4ac<0 =¥ ow@ ¥ 73h Tow wha
~5++/-49
3

19 @ T X =

18 ORI R(S | Example:

iv. 3% a,b,c W @32 b® —4ac >0 @ el
(A OCF I 72 A1, JeW 8 ST R(A |

~5+./49
3

Example:

v. 3% ab,c ™« b —4ac>0 @
b® —4ac <ol 7 70t o3 7 9= AR,

5447
3

M 8 ST R(S | Example:

Vi. @3 T M kGl a+ /b 2 e i
SR o Al a— /b 2 |
vii.  «f 371 wlba e a+ bz woR T\ h
SR Siba Aerta —ib 2 |
6. 25! 1 Fex At o1
T I, o G B 76! T4 | TSR
X=a,f
> X=a,X=p0
=>X—a=0,x-p=0
= x-a)(x-£)=0
=X - HX-—ax+afi=0
- Xo=(a+B)x+af=0
X2 - (FeTaeEa ere) X AYeraeE wvwa=0
X —(a v B)x+af=0
X® — (TR Q@orea) X + (7261 303 T 703 SR
QFCETR (F) X - TG @5 =0
cX—(a+ B+ )X+ (af+ By +ya)x—afy =0

8. famre FiMead ax® +bx+C =0 &= P IR TR
TP TR S S,
ax?+bx+c=0

b ¢
=X +—Xx+—-=0
a a

G —(—9)x+£=0
a’ a

e« , X —(a+ B)x+af =0 9

xz_(_g)x+§:oﬁwwm9na,

b c
a+pf=——aR affi=—
a a

OR, WA 37, o 932 B 7261 T | @AM
a:—b+\/b2—4ac’ﬁ:—b—\/b2—4ac
2a 2a
- +\/b2—4ac+—b—\/b2—4ac
2a 2a
_ —b++/b®—4ac-b-+b*-4ac

2a

Lo+ =
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_—=2b
2a

La+f=—
a

—b++/b*—4ac,,—b-+/b*—4ac
g3 aff=( 2a ) 3 )

_(-b)’ - (b* ~4ac)?
43*

_ b*—(b*—4ac)

- 4a®

b? —b? + 4ac
4a*

_4ac

T 4a?

I ax® +bx+c =0 AN TR o, f T O,
TETREE @I, o + ff = — X &R 7290/ X @7 72,

.'.a+,B:—E
a
32 AR TF, o f = &3°W [ X* 93 7Rl
c
Laf=—

a
9. W ax® +bx® +cx+d = OATNFAER TR
a,f,y WA,
a+f+y= —x> a3 72l x° a3 1R,
b
.'.Za=2ﬂ=2y=a+,8+y=—g
UEK Za,b’zaﬂ+,87+7/a
= X 47 727/ X @7 7ol
.'.Zaﬁzaﬁ+,87+7a=

a2 affy = - &0/ X° @3 AR

o

.'.aﬂy:—g
a

10. a,x* +bx+¢, =0 @32 a,x’ +b,x+c, =0
TR TN T AT 18
TS T I, a, x> +hx+c =0 @3
a,x* +b,x+C, =0 IR I A= = o
7@, o’ +ba+¢ =0.ne, )
a0+, +C, =0.viien, (i)

11.

12.

13.

14.

15.

16.

17.

18.
19.

AT (i) G2 (i) T ZCS TR FREPAA

a a 1

iR, = =
blc2 —b,c, ca —Ca alb2 —a,b,
a’ a
= UER
bc, —b,c, ca —c,a
a B 1
ca —C,a albz —-a,b
2 —
N b,c —b,c, g ca —C,a
a ca —-C,a ab —a,b
e bc ~=b,c, 1/ ca, —Cya
ca —Cya, a,b, —a,b,
. bc —bsc, ca -c,a
xS 1, 2v1 M9, 2%

"ca —c,a  ab, —ah

(Cla2 _C2a1)2 ~ (albz _azbl)(blc2 _bZCl)
EeEsnicnie

(a+b)* =a’+2ab+b?

(a+b)? =(a—h)? +4ab

(a—b)*=a® —2ab+b?

(a—b)*> =(a+hb)* —4ab
a’+b*=(a+b)*-2ab
a’+b*>=(a-h)*+2ab

2(a? +b?) = (a+b)? + (a—h)?

2 2
2% 4p? _(a+h) ;(a—b)
4ab=(a+b)* —(a—Db)?
2 2
ap_ (8¥D)*—(@-b)
4

at+b,, a-b,,

> ) (—2 )
(a+b+c)*> =a® +b* +c® +2ab+2bc+2ca
(a+b+c)> =a”*+b*+c” +2(ab+bc+ca)
na’+b®+c® =(a+b+c)’—2(ab+bc+ca)
~.2(ab+bc+ca)=(a+b+c)* —(a* +b* +c?)

sab=(

a®+b®+c®—3abc=(a+b+c)(a®+b’+c? —ab—bc—ca)

a3+b3+03—3abc=%(a+b+c){(a—b)2 +(b-c)*+(c-a)*}

a’—b*=(a+b)(a—-b)
(a+b)® =a®+3a’b+3ab* +b®
(a+b)® =a’+b®+3ab(a+b)
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20. (a—b)® =a*-3a’b +3ab’ —b?
(a+b)® =a®*—-b* -3ab(a—b)
21. a® +b® =(a+b)(@a’® —ab+b?)

a®+b®=(a+b)® -3ab(a+b)

a®-b®=(a-b)a®+ab+b?)

a®—b® =(a-b)® +3ab(a—b)

23. T4 T AT & AT,

i. faare wlieaes o el 7@,a—-d,a,a+d

ii. Do AR T Tl 73,
a—3d,a-d,a+d,a+3d

24. T T eiieT e AT,

i. f@m@ﬁw@wwﬁfmﬁ,a,ar

22,

ii. WW@WW@TW, ,ar,ar’

3’r

a a

r¥'r

iii. oYl AMFAR T TSR =0 ,ar,ar®

- (5.1-5.2) (et Ref):

n-0 ,,0

X+nanll n22

1. (a+x)”=n a x.An.a +

+n,a"™
=a"+n.a"
+n,a"™
@RI, ne =1
0
n

n
RTINS
~nn-1) nn-1) n(n-1)
2 12 2
" n(n=H(n-2) _ n(n-H(n-2) n(n-1)(n-2)

G 3 123 6

2. (a—x)"={a+(-x)}"

=a"+n.a"(-x)+n a"(-

n-r
+n, a

4. 1-x)"={@+ )} =1"+n, 1""(-x) +n 1% (-x)* +
+0, 17 (=X) +n, 17" (=x)"

=1-n X+n, X* + AN (—X) +. (—X)

5. (a+x)" @3 fRgfers (r + 1) ©F *m/A= sm

n-r,r

=n,a X

6. (a—x) ={a+(=x)}" 97 [gere (r +1) =0
“m/AiEe o =0, a' (=)'

7. (a+x)" a9 fagfere wgom,

(i). (_+1)W91W I, N (S AT |

(ii). (_+1)Tf o e (N1

2, N ﬁmﬂiﬂﬁ

8. (1+x)"«wafRgfers (r +1) ©F “m/5«=e M
=n, 17"

=n, X'

_ n(n—-1)(n—2)(n-3)........ h—r+1) "

r!
@A, N @F T ITES 7T A, T Bl (+,-) |

9. 1-x)"=>{+(—x)}" wafore (r +1) ©%
am /At o= n, 1" (=x)"

+1) ©F 7,

:ncr (_X)r
n(n—1)(n—2)(n-3)........ n—r+1 .

_ n(n—1(n—2)( — ) (t )(—x)

@AM, naawmqmﬂnm T 2 (+,-) |

10. A=X) ' =14+ X+ X2+ X3+, +x'
A+X) =1 X+ X=X+, +(=x)"
X <1

11. (1= X)2 =14+ 2X+3X* +4x° +......... A(r+Dx"
(L+X) 2 =1-2X+3x*—4x> +.......... +(r+D(-x)"
X <1

12. (1-%)° =1+3x+6x%> +10x3+....+%(r +1)(r+2)x"
(1+x)° =1-3x+6x*-10x° +....+%(r +D(r+2)(—x)"
X <1
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13. wifemnat faifesre (556 (Convergent Test):
lim u
n— oo =] :where, | <1
u

n
14. a" xa"=a"",a" xb"™ = (ab)"

am
15. —= am—n1(am)n —gmn
a

m

-n _i 0 _ m _ oMpm E m =a_
16. a" =—5.a'=1(ah)" =a"". ()" =5
S (6.1-6.3) (3F):

1. @FF = 7S Fe 93 Teoffe | @ e
(PIFE-(F O N T QG O @R AIZI
I R (BY FACE PP BeoAf§ =T |

2. JICSAT ATSE b HeTN [ 20O & A0
a3 37 @ vRg a3k @ vore [ (e 9sh
fAme Teaen Toia wiFe oY FEed 9o &89 —
q ¥ ACATE b KA (16 =191 I8 HBRALS
3fe 3 | =4 p(x, y) @ vere g, Rl
S @3 e e MZ =0, 5o Rgg @15,
{(x,y):ize (W)} 7 8 AL ]

PM
|

3. <fcea MR A,
ax’ +hby? + 2hxy+2gx + 2fy +c =0

4, SP=ePM @7 (%@, e @3 fox fo8 W17 &0
WWW@I_WNWWW—

Direedrn

i. M e=0wefe SP=0 T, oz T’

TS|
ii. M e=1wlc SP=PM =z, orzte
eeraei =T A |
iii. 3™ e<lwelk SP<PM =3, oz
eeraeial =03 ToE |
iv. 3Im e>lwfe SP>PM T, o
eeraei 703 wfkge |
v. 3m €=o0ufe PM =0 =z, Sz
FeeraiAl x0T TRl |
5. ax’ +by? +2hxy + 2%+ 2y +¢ =0 @z cwem,
a h g
i. A=h b _f|=0 2@ &= (oot FRECRad
g f ¢
T a0 |
a h g
i. A=h b f|/20,a=bh=0z=3e
g f ¢
o 91 |
a h g
iii. A=h b f|£0,h*=ab =z *mige
g f c
o a0 |
a h g
iv. A=h b f|#0h’<ab == Toge
g f ¢
I A0 |
a h g
v. A=h b f|20,h’>ab z=ufgs
g f ¢
™ 903 |

6. RETCARTE @A
Ly 8 (%, y,) e watey
(X1+X2’ y1+y2)
2 2
i AGG, ) @ B(x,, y,) e e
AB :\/(Xl_X2)2+(y1_y2)2
. (x,y,) € (x,,y,) e s

CRATTE B1eT, M = $i7¥e Y2 s
X=X X=X
=IaER oTae/geaEd T

V. IS G351 FRARLE B e 9 o,
Yy =MmxX+Ccor, Yy = MX ;3G OlF,m
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Vi.

Vii.

viii.

Xi.

Xii.

Xiil.

Xiv.

XV.

y=mX+¢c, 8 y=m,x+c, T
25 TR 2ETH *1S: m, —m,
y=mX+¢, 8 y=m,x+c, T
730 o 2eTM S m, xm, = —1
(B 77 (x,, y,) e oGt @i
R TTFT, y — y, = m(x—x,),
@<, M 2= o |
736 /7 (0, y,) R (%, y,) T
Y—Y _ X=X

Yi=Y, X%

X weeg Aqaed, y = 0

Y SR A, X =0

X - ST AR AP,
y=b

X=a

ax-+by+c =0 @R = @R AN,
bx—ay+k=0

ax+by+c =0 T AT
AP, ax + by + k =0, @ K 9.1
(%, v,) T @F ax+by +c = 0EE

ax; +by,+c

Tl oRfPS W R —

11. s¥aiqee e

1)

Equation of directrix
x==m

Y? =4aX

4 |
.n"ll

.‘Il.-l Focwus -

s meCctum

& Equation of

hatus rectum %= a

f_l_.

/ ‘LLen;th of latug rectem = 4a

wertex v

ﬁ i
w (0, O0) \\\ Focus Fa, O)

(iii).X 2 = 4aY

-l-”:-_— 1 K f"’:’

xvi. (a+b+c)?=a’+b*+c®+2ab+2bc+2ca

7. SP=PM emigees s e |
8. Y? =4aX *RRTE Y = MX+ C i =

e e C = &

m
9. RIgred MY Y (o, B) @R EFRA X WCH
ST /TPF @Y SCH FAN@A = G

stisraet s, (Y — B)° =4a(X—a) «ae o
X ST TEAE G ~RIgeed TAead @ @R
T/, X=ay’+by+c

10. ~argees AT R (r, ) 99 THE Y 0w
TRE/MarF @2l X Srwd AN ] 99

Aierael srrema, (X— )  =4a(y - B) e e
Y ST A Gl RGeS TR (F (@111

T, Y= ax’ +bx+c

Awxis of the
parabola

(ii).Y 2 = —daX

Equation of N )
«€—— Equationof

latus rectum x = -a .
directrix x= a

— |

Length of
latus rectum = 4a
Focus’i (-a y vertex v (O, 0)

(iv).X? = 4aY
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Equation of
directrix y = -a

vertex v (0, 0)

/i’ Focus FY,-G) Eq of
atus e Tul

Length of latus

uation

rectum = 4a

Length of latus rectu

4a

Focus
F0.@) | gquatio
e/

nof latus rectum
¥y=-a

vertex v (0, 0)

Equation of direct

rix y= @

R RIS TR Y?=4aX | Y?=-4aX | X?’=4aY | X*’=4ay

1 VR IS A(0,0) A(0,0) A(0,0) A(0,0)

2 FIFA[CAT T BT S(a,0) S(-a,0) S(0,a) S(0,—a)

3 R /Meews A3 Z(—a,0) Z(a,0) Z(0,—a) Z(0,a)
ERIK

4 s/ Meitea T=iead X =-a X =a Y=-a Y=a

5 e/ TARES I X =a X =-a Y=a Y=-a
FAqHAA

6 ifoeTs/ TotH@S 1097 (<) |4a| |4a| |4a| |4a|

7 TIPS A0He A8 [ ubd | (a,+2a) (—a,+2a) (+2a,a) (+2a,—a)
RIS

8 SCHG AN Y=0 Y=0 X =0 X =0

9 A ~ofira AP X =0 X =0 Y =0 Y =0

10 | Concfms g X+a X+a y+a y+a

11 | Coitem @ A Ry a a a a
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W
il o
=
Z'|(-a0a
x? yz a>b a<b
£ WW:—ﬁb—z—l X 99 FLA Y, V.49 B X
a a«3I B b, b @ 30 a @R
FIILP THICO J(A |
1 (&R (0,0) (0,0)
2 AIRE IS (+a,0) (0,+b)
3 IR ST A 2a 2b
4 T SCHA M) 2b 2a
6 TH ACHF AN x=0 y=0
7 Tewlmaet b2 32
e= - —2 e= - —2
\" a " b
8 (PP [CATH @RS FIT (+ae,0) (0,+be)
9 V25! ToTH@T T 2ae 2be
10 s/ iesa Aimfasg (i%,o) (O’i%)
11 </ iR A a b
X=*x— y==+—
e e
12 V25! s/ freiess e 2a 2b
e e
13 I G32 MPICHa e %_ae %—be
14 Tifoery/ Coms S0ed A op? 232
a b
15 qifoeTe/ T as Acaa TR X = +ae y =+be
16 Togeed TR (e e SP+SP=2a SP+SP=2b
TS 1Y 1204 T IR
ST LATEE ST |
17 CFQTe ab nab
18 @Il e RKgre Tagren (acosé,bsin 0) (asin 6,bcosH)
"RIFoT ay bx
I, tan d = — qq, tan f = —
bx ay
3 T 2
19| (e, YT | (—a)’ (y-p) _, (x-a) (=" _,
AN 3.2 + bz - az + b2 -
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X
13.@@31@?’1%#:?——:1 awe L X

2 2 2

y

b2
y €

%.. Conjugate axis Transverse axis

< \\\ Co-vertex

_________________

“~_ Co-vertex Center P
75w TN
’ Asymptot e Asymptote

Sf¥re Ae:

<«® 2 2 2 2
Xy X
a b b a
1 (&g (0,0) (0,0)
2 | TR gmiE (+a,0) (0,%b)
3 | G OCER (9 2a 2b
4 | wRE R 2b 2a
FECESEEREE y=0 Xx=0
6 | SR S A x=0 y=0
7 | Sl b2 g
e: 1+—2 e: 1+—2
a b
8 (I [TAI G BT (+ae,0) (0,+be)
9 | MBI TAHCHA 799 2ae 2be
10 | s/ sicess siwfy (ig 0) (O’ig)
11 | s/ Micss Tieaet a b
X=+— y=+—
e e
12 | w251 far/ e iR 2a 2b
e e
13 | P 3R maieea gag g—ae g_be
14 | e/ Socslas sieea (ags oh? 232
a b
15 | o/ ol sicea aneael X = *ae y = tbe
16 | SIEqeed SARIZS (Il e S SP-SP=2a SP-SP=2b
LECRCURAS IR RS ICRC (R
(AT S |
17 | CFa®e 7ab 7ab
18 | 1 e e wivgees “mififos (asecd,btan 6) (atan 0,bsech)
FRS y X
T, tan 6 = = T, tan @ = —
b a
19 | M7 G (cx, /3) T T HeqUe (x-a)’ _(y-B)’ (y-B) (x-a)
AR a2 - b2 =1 b2 - a2 =1
IREIACE 53 et
20 {08 TATOCHS AN yzigx yzigx
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rteat-(7.1+7.2) (Redre farareififes
T 8 faratdfifes Fiiead):

SR 7. 1 (Refre i He):

2X . 42X
> =Sin

54. 2tan ' x=tan™

55. (i). sin™" x+cos™ x =

(ii). tan " x+cott x=

NEIRE

[N

(iii). sec™ x+cosec™'x =

+y

Y

Xy

1+ xy

57. sin "t x+sin "ty =sin {xy1- y2 + yyA= x’}
sin "t x —sin "y =sin {x/1— y* “YJ1=x*}

58. cos ' x+cos 'y =cos{xy—/(1-x*)1<Ly*}
cos ' x—cos™y =cosH{xy +4/(@- x)(1-y*}

X+Y+2—Xyz
1-yz—2zX—Xy

56. tan ' x+tan "y =tan”’

tan ' x—tan"y =tan™

59. tan x+tan 'y +tan z = tan(

60.
sin sin X = coseccosec *x = X

COSCOS™ X =secsec * x = x

tan tan® x =cotcot* x = x
61.

sin® @ = (sin 6)°

sin®(sin ™ x) ={sin(sin * x)}* = x°
weptEl- 7. 2 ([Rstafafess stifead):

62. sin@ =02, @=nrneZ

63. sin@ =1 2=, 0:(4n+1)%;nez

64. sin 0 = —1 =, 0:(4n—1)%;nez

65. sind=sina z=, d=nz+(-1)"a;neZ
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66.

67.
68.
69.
70.
71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

cosd =0 =, 6?=(2n+1)%;nez

c0sf8 =12, O=2nzr;neZ
cosf=-1T3, =(2n+)r;ne”Z
cosfd =cosa X, O=2nzrta;ne”Z
tan@=0 2, =nx,ne’Z
tanfd=tana T, 0=nr+a,ne’
GG IS
Sin(A+ B) =sin AcosB + cosAsin B
Sin(A—B) =sin AcosB—cosAsin B
Cos(A+ B) =cosAcosB —sin Asin B
Cos(A—B) =cesAcosB +sin Asin B
2sin, AcosB =sin(A+ B) +sin(A—B)
2C€0sAsin B =sin(A+B) —sin(A—B)
2cosAcosB = cos(A—B) +cos(A+ B)
2sin AsinsBr=cos(A— B) —cos(A+ B)

sinC+sinD:25inC;DcosC;D
sinC—sinD=2cosC+DsinC_D
2 2
cosC +cosDzzcosC;DcosC;D
cosC—cosD=23inC+Dsin D;C
tan(A+ B) = tan A+tan B
1-tan Atan B
tan(A—B) = tan A—tan B
1+tan Atan B
COt(A+ B) = cotAcotB -1
cotB +cotA
COt(A—B) = cotAcotB +1
cotB —cotA

sin 2A = 2sin AcosA

sin A= 2sin écosé
2 2

sin 2A=2ta—n;A
1+tan® A
A
2tan —
sin A=
1+tanZé

cos2A =cos®’ A—sin? A
cos2A=1-2sin® A
2sin® A=1-cos2A
cos2A =cos® A—sin? A
cos2A =2cos* A—1
1+cos2A =2cos’ A
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83.

84.

85.

86.

87.

88.

89;

90.

91.
92.

cos A= cos’ é—sinzg
., A
cosA=1—25|nZE

2sin? g =1-cosA

cos A= cos’ A —sin? A
2 2
cosA = 2cos® g—l

1+CcosA= ZCoszg

tan2A:2ta—nzA
1-tan A
2tané

tan A=
1—tanzé
2
1-tan? A
cosZA:—2
1+tan” A
1—tanZé
cosA=—i
1+tan® —

sin3A=3sin A—4sin®A
4sin® A=3sin A—sin3A
sin A:35iné—4sin3é

3 3

cos3A =4cos® A—3cosA
4co0s’> A=3cosA+cos3A

cos A = 4cos® A 3005é
3 3

3tan A—tan® A

tan 3A =
1—3tan? A
3tan A tan? A
tan A= A 3
1-8tan® —
3

sin(—@) =#sin @;cosec(—@) = —cosecd

tan(—6@) = —tan @; cot(—f) = —coté
cos(—60) = cos@;sec(—0) =secHd

1
,cosecld = ——
cosecd sin @

1
cosd

sin@ =

cosezi, secld =
secd

tanezi, cot¢9:i
cotd tan @
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93.
94.

95.

96.

97.

tan @ = sin 0 , cot@ = 0930
cosd sin @

sin?@+cos’ 0 =1
sin? @ =1—cos® @
cos’@=1-sin’@
sec’d—tan 0 =1
sec’@=1+tan? @
tan? @ =sec®? 9 -1
cosec’d —cot’ 9 =1
cosec’d =1+cot? @
cot® @ = cosec’d —1

wfeger

98.

99.

o
HIRE e S

sind W dfoey
sin 0 = =/afogs
cosecOr="sfoge/=w

A O (S

coso ofy  wfogw
cos = efv/afoge
sect = wfoge/gf

100. war T ©©

101.

tano 9 oY
tano ==m/ef\
cotd = ofy /o1@

FYS (@A fartfifes wrere fAeitzg s
AYE @FAHE (N x 90° + 0) AT AT FACS

R0 @ACA,N @ @A 95T @I O PR | ©F

O g1l qeETs @ s ey | Seeites oz

TR & Toeiel i SRt FA0S T | 9949,@
(I TR SATEABA A @Y (TR (I T A

5% AIes @ TP ¥96F @ | 0 -93 Sl
(+) T ANCER 99 @I 6 -9 =0 (-) T R

@ | @I (7T A (@1 21 26 F1 n

@3 T ST A 70 (@l ARSI, n

G I (SG Y| 0 (Pl Ao R 1 | 79 75

0 wvifaafe® AT |

102. All Students Take Chemistry

ix.  All=All Positive
X.  Students=Sin/Cosec
xi.  Take=tan/cot
xii.  Chemistry=cos/sec
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sin (+) pOSitiVE —
cosec sﬁf(fr) WS
— positive %
Y - 1. =1<sinB<+1
E > < \ 2. -1<cosO<+1
>

= = ;0\ 3.-1>secH>+1
T2\ \, {_E % 4.-1>cosecO>+1
E 2 = 5. tan®, cot®

o » T et AR
tan (+) positive |cos (+) positive
cot

sec

103. n @3 N7 Rree At T @I ARTET TR |
Sine SIS +if7af$e 2@ Cosine 2@ |
Cosine Sirs +f7af$ 2w Sine 2@ |
tangent SIS “f7afss 2w Cotangent T |
Cotangent Se7irs +Ifi<f$s 2@ tangent 2 |
Secant S7Ts #if7af$e 2@ Cosecant T |
Cosecant Sirs #fsaf$e 2t Secant 2@ |

104. N O3 T (WG Y A @It RIS 3 ' |

105,  forResRe s (Sfogw)2=()>+( gfi)?

106.
sin(90°—08)=cosh, cos(90°-0)=sind, tan(90°-6)=coto
1.5iN(90°+0)=c0s0, cos(90°+6)=-sind, tan(90°+6)=—coto

.sin(180°-0)=sinM, cos(180°-0)=—cosh, tan(180°-6)=—tand |

(1
.sin(180°+0)=-sin0, cos(180°+0)=—cos6, tan(180°+6)=tand §
.sin(270°-0)=—cosh, cos(270°-6)=-sinb, tan(270°-6)=coto ‘
.sin(270°+0)=—cosh, cos(270°+6)=sind, tan(270°+6)=—cotH
.sin(360°-0)=-sinB, cos(360°-0)=cosb, tan(360°-6)=—tan6
.5iN(360°+0)=sin0, cos(360 +0)=cos0, tan(360°+0)=tan6

107. famws -

wioge

B
(i). @Bt Inverse (/T AEF6! Inverse @ 2fRIe
FACS BIRET AT (FB] AN e #iwre 2J |
(ii). QTS FATCHIN QST H 7 1R IR W AR
TP g ({9 PO A |
(iii). == PRI STag AR [(Shoge)?=(T7)2+(
of¥)2] PO IR (I FACO XA |
(iV). T @TSIRo! FACHA ferore fox g wiet AP
@ Inverse @ A% T4 T |

108.

Using left hand to remember sin /cos/tan of 0, 30, 45, 60, 90
Left hand—palm up. Degrees represented by each finger are
shown on the diagram to the left.

Eg to find sin®, cosB and tanB, bend 8 finger down,

sin® = ¥ no. of fingers to left
2

cosine c0s8 = v no. of fingers to right
(closest) 2

2 tané = v no. of fingers on sine side
v no. of fingers on cosine side

: 7 o T 3 sinB, cosO
sin (0] = 75 = 1
> tan6 -93
cosec | wrwlfie | 2 V2 7 7 &5
7 7
|} cos 1 Z | = O | cosecd
sec 1 Z | v2 | 2 |refic| secOs
tan o \/—73 7 /3 | o cotd-a3
: - T Ahsat
cot wReiRe | V3 1 73 o A

SpE-(10.1-10.2)(RBR A=t @ J@i=e):

1. AfeR=37ew T — FEew T
-~ R=H-L

2. WP E &Y AR, CR

= X0 =% 1009 [ TRETAT x, ¢ TSN TN ]
+ %

n

3. TS R w sfeEieE, CR

zﬂ_txloo%[m’emw @fog A L e
+

TR e BT H |
4, v9%F 34 (Q.D)
(Qz Q1)+(Q3 Q,) Q3 Q [ @2
2

e Ql\‘*d'“‘?@ Q.1
5. vede T94E (CQ.D) = =~ 10004 [ 22N

5 +Q

TRIE Q, 9 PO TR Q, |
6. stg gRE (Co.M.D) = M-DC)
X

x100%

7. 1% Rreq® (C.V) = £ x100%
X
8. sifafes s
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ITHAFS ST & TS S &Y g SYA &Y | @HFS SR w AifRfe
s e shifafes o1 “{fifire IR JRY
—_7 . =X 2
(i). hfafes e (i). Wfe g (i).o= 2% X—(i). _ 20 =X)
>d > fd n N
=a+WXC =a+ N xC
? f, IR 15 S
(ii). M= o1 d = C
PR (). M 1 >4 R
X == iii).o = _ 2 4 C
. i (i) o J & @ndpe \/ e x
N ferRyife STt
0. 15 TR T d=x-a SN f=f 8+
TS O T TS O & TG
TG FIRE TJRY IR 3 =0,
X+=a
n B n d =
2% =] D filxi - % c
(i).M.D(X) =|==—i).M .D(X) = {=
n N 12. coness
SEAPe ST ®AFS O oy AR
Z|Xi_M E: fi|xi g'We .(i) Fwm (i)
.. - .. ] . 0.
(||).M.D(Me)=1—(rt|97|\,4__D(Me): L o= (R P .
JI4H)? FJAL)2
Zn:|xi_M nZ filxi = M|
(i) M.D(M ) = i DM, ) = 25— SFAe-10.2
BISEH
1. A 932 B 951 9619 AR TN P(A) = nig
10. o T4 . n(B)
TP ST & TG IS AR P(B)zﬁ
TG Z0S A1 G JILT, 2. V2 SRETAE ToAR (@ TR @9l A
~ M.D(x) P(Aor.B) = P(A) + P(B) - P(ANB)
CM.D(x) = % x100% - P(AUB) = P(A) + P(B) — P(A~ B)
TGS 2O [MarS TG I, 3. 2 ISR WA CF@ FBRAR @It J@g
MD(m.) P(Aor.B) = P(A)+P(B)—0
CMD(M,) = ———-x100% - P(AUB) = P(A) + P(B)
e ° Cy_
e T g S 4. AR =Fs @ms P(A)+P(A%) =1
MD(m,) - P(A)=1-P(A°)
° 5. vz foadie 3t @18 69 CFC@ ARIRTEA @0 @3
p(A|B) = P(ANB)
11. Affire <4 P(B)
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- P(AnB) = P(B).
-.P(AB) = P(B).P(A| B)

P(A|B)
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6. 7R Feaie 3t 9@ I6aR (F FORAR @4 g

P(B|A) =m
P(A)
- P(ANB)=P(A).P(B| A)
. P(AB)=P(A).P(B| A)
7. 73 afreadie At T8 AR CF@ TR @o |
a8 P(ANB)=P(A)xP(B)
-.P(AB) = P(A).P(B)

_____________________________________________________________________________________________________|
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